FR28EEENRISFFRAFEEK

L HEHDRE HEAFSKRNEER(FHR28F2/15H)

=2 & £l ® - 3 — R|BETE |HESEAS|#HETEEN SREY |aBNEEYR
A LT@EH-BAESHRRI—R (40) 10 10 10 10
A = ZER-BARFEI—R (40) 10 4 4 4
BER 30 12 21 21 14
, TARE 40 18 20 20 20
i FH |
HEEIRER 40 18 33 33 20
R 80 24 26 26 25
B oE I XBSH 40 12 2 2 2
HRIREF 40 14 6 6 5
R 40 18 18 18 18
b MESE XS 40 18 14 14 14
mER 40 18 22 22 20
x | EEF 160 45 20 20 20
i:3 | & EXAEF 40 12 27 27 14
EMEEF
bR B EEETHFIUH 920 36 30 30 30
INAA BT
)\ B|&&EH #ia—X (40) 18 23 23 20
- {FY - AAF 40 16 17 17 16
=2 W Jd B e
1FwRT VA 40 18 21 21 20
B T 2 H 80 32 33 33 33
BT IER 40 16 19 19 18
= L T iiﬁliﬂ 40 16 19 19 18
ER IR 80 32 16 16 16
BETEH 40 16 28 28 18
TARIT=H 40 16 16 16 15
RBRZFER 80 40 40 40 40
= U & %fﬂfﬁﬁiﬁﬂ 40 18 20 20 20
KEH 80 40 58 58 40
TRERAL IR T} 80 40 48 47 40
= 0 F H.Jﬁ_ﬁ%ﬂ 160 48 39 39 39
FER 40 14 27 27 14
= 1] R|EEM-BARFEI—X (40) 12 23 23 14
= W | AR - EFEa—X (40) 12 11 11 11
K BIEER-fAE1—X (40) 24 30 30 24
= P|EER-FEI—R (30) 18 18 18 18




FR28FEEWRIS

FERAFEEIR

EHEHIDRE HBEAFARANEER(FR28EF2R15H)

=2 % £l ® - 3 — R|BETE |HESEAS|#HETEEN| DREY |aBNEEYR
I AR == 160 45 51 51 47
X M| EEE-FHRI—R (40) 12 10 10 10
4} E|EER 40 18 27 27 20
= fiE] | EER - AFEEI—X (40) 18 24 24 20
HetR 40 16 14 14 14
BT 40 16 14 14 14
BRE 40 16 4 4 4
= M I =|EER 40 16 23 23 18
TRIRER 40 16 11 11 11
IT=# 30 12 19 19 14
THAU - EFE 40 20 23 23 20
RBRRFER 80 38 58 58 40
- EEEFER 40 18 24 24 20
®OEOB X =EHE 40 18 17 17 17
TEERNIEF 80 30 27 27 27
X b N[ rdint = 120 40 16 16 16
= fi] | EER - AXEFEI—X (40) 14 16 16 16
& E|EmE-BEI—R (40) 16 10 10 10
BERFEH 20 8 5 5
5K = 5?5%%4%%4 20 8 9 9
ESRRF 40 18 19 19 19
HEEEALR 40 18 21 21 20
HetmE 80 32 27 27 27
m oK I XESHE 40 16 10 10 10
BFH 40 16 6 6 6
= O E B %"E%Iﬁtﬁﬂ 30 12 22 22 14
f=ReeF 30 12 22 22 14
B O R REEE 30 10 10 10 10
a EEES 40 18 16 16 15
a | 314k64%FF 3230 | 1258 | 1314 1313 | 1,137
GE1) BETEED( ) IEEHOBEEEORNRERLTLS,

(¥2) FHRHBOHAT
PREEER(EVEER-EXTHIUR - NAFEMRD 2OV TIE, 32H

ELTWNAT=6, 314564 E1 5,




FHR28EEELRTIE

FERAFEEIR

£BHDRE HBAZSHANEER(FM28FE2H158) (KER )

X = Fl 2| mErE |eEse a|eEsmey| SREYK [snnzan
x & il 430 164 179 179 157
TER(BRa—R)| - - - - -
ET@EM(ao—X )| @30 e 79 079 (157
# ® ®# % B - — — — -
= 53 F 150 50 26 26 26
B * ®l 170 68 78 78 63
7K 23 ® 60 26 31 31 29
T ¥ | 1,030 406 371 371 342
i) ¥ il 720 332 389 388 332
ES E ® 120 48 81 81 54
F F 40 14 27 27 14
& il # 30 12 22 22 14
“ & =2 ESh 480 138 110 110 106
a | 3230 1258 1314 1313 1137
(3% ER21EEAZEER)

X = # 2| sers |wEseia|ersmsy| SREYK [snnzan
x & Rl 430 166 194 194 158
TaER(BFRa—R)| — - - — —
ETER (a—X )| 430 (ee) (194 (194 (158)
72 % B2 %F M - — — — —
E5| 53 ESh 150 50 51 51 49
B - il 170 68 65 65 60
7K E # 60 26 23 23 23
T E S 1,030 422 406 406 359
[i5] E ESh 720 332 414 414 326
3 E il 120 48 71 71 51
5 & # 40 14 38 38 16
fa il ® 30 12 22 22 14
#w ) =] ESh 480 138 193 193 144
& | 3230 | 1276 | 1477| 1477 1,200




FR28FEEINRISFFRAFEER e

RIFRER

2HHIDRE HEAFNEEEREEAR—E (FTHK28F2A15H)

¥ w  alr B - a2 — 2| msea [EEIER rnr | wx
HEAK
H TaE 120 10 110
A = |EEH 120 4 116
T [EER 30 14 16
TZEFE 120 — 120
& H|EAKH 40 20 20
HRRER 40 20 20
il E|LEE 200 — 200
e 80 25 55
B OE I ¥XERH 40 2 38
BHRIREF 40 5 35
@R 120 — 120
53 i B 40 18 22
EEFR 40 14 26
BER 40 20 20
i3 mRE=E 160 20 140
LZEF 120 — 120
i e 0 Ui 5%
EMEER
b R B ERE=ETHIHE 90 30 60
N TE
J\ E|ZEF 160 20 140
= 1] 7| EEE 160 — 160
LZEF 200 — 200
= m (R HER]
= BHEER 80 — 80
AXtERER
LZEF 200 — 200
= an| (R FERL]
I L 80 - 80
AXtERER
LZEF 120 — 120
E W 4 ZWKIFY-NqAF 40 16 24
BRT 18 40 20 20
e TR 80 33 47
EFEWMIER 40 18 22
- LEIFH 40 18 22
E W T i@és—ﬁjﬁﬂ 80 16 64
BETZH 40 18 22
TARITZ=H 40 15 25
TERER 80 40 40
= E R EFR 40 20 20
L P 50 0 40
ERANIER 80 40 40
= v @y |REFEH 160 39 121
N A i0 Ui 5%
= " i%iﬁﬂ 240 14 226
= TR (BREFEI—X) (40) (14) (26)
= w HEER 240 11 229
K 1= LEF 160 24 136
ClEEHEEI—X) (40) (24) (16)
= Pl EEH 230 18 212
a TER (FFEI—X) (30) (18) (12)




FR28FEEINRISFFRAFEER

2HHIDRE HEAZNEEEREEAM—E (THR28F2A15H)

2 @ & M - 2 — 2 smea [EEIEN gﬁ%ﬂ;ﬁf e
I AL ] 160 47 113
N P& &R 120 10 110
= | BB 120 — 120
i = EEZS! 40 20 20
LZEFE 200 — 200

= i [RZERIZFH ]
R 80 - 80
AX &R 2

= fif] 7| EE 120 20 100
el 40 14 26
BFHEmE 40 14 26
R 40 4 36
= B I =gZxEi 40 18 22
T RIBEH 40 11 29
I=5 30 14 16
THA - EEE 40 20 20
mEEER 80 40 40
= E SR AR 40 20 20
R e 40 17 23
ERANIERE 80 27 53
K KREEERRE 120 16 104
= fif] M EEE 200 16 184
= i | EE R 120 10 110
ZEF 160 — 160
BEREH 20 5 15
K RlEEses 20 9 11
EDRRE 40 19 21
HEEAE 40 20 20
i KIEER 200 — 200
W 80 27 53
m K I ¥([ESHE 40 10 30
ETH 40 6 34
LZEF 160 — 160
W E HEXEER 30 14 16
AR 30 14 16
53] L TEER 34 — 34
= | EEE 80 — 80
R 30 10 20
LZEF 120 — 120
A Ej]ﬁé'ﬁ#ﬂ 40 15 25
a =T 38%86FF 7,184 1,137 6,047

CE)SRIDEREHDRAIZDONT

@ 1ERMLHART HEBRI—R(ET, HBEHORKELTREL. ZREICITANGL,

Q@ HREEXEEROEMEEN -BETHAUR-/AFEMR L. SFEREBZS.

Q@ BUEK. EUPHERK. SRAEROBRAHZERT, BRI EAXHARHZ

HoBHmTHY. 2FRELTND,
Ll £V 38186 F Rl &0 D,

@ BEHABKREERIOVTRH. ZEEEDIL5RERELEREDZ T ANELET S,

No_.2
BT AR ER



